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B wE G E
MLZ3IY K== (0022-88|:FL|>D |_2200) (0022-88|=Fr|>3|.2255)
T 8 7 2= kg 1,500 1,750 2,000 2,500
H £ @7 E R oD mm 500 500
E O£ B2 35 mm | A 3,000 3,000
J Uy — Uy 7 K mm | B 145 150 155
. B & mm/s 650 615(570)
Iy #aH mm/s 675 655 (600)
.| TmEE e o mm/s 500 500
3 o\ mm/s 550 500
~ AMER A [F11E/#1E] deg [C/D 6/11(7/10) 6/11 6/11
R gl [BE/EEE] | kmh 19.0/19.4(13.0/13.5) 19.0/19.4 (14.0/14.5)
BE[BRE/BER] | kmh 19.0/19.4(13.0/13.5) 19.0/19.4(14.0/14.5)
B K & IR 8 B % 45 44 38 32
B o iE @ ¥ &R mm | E 1,990 2,010 2,200 2,280
% #m - B X = A WAS K341ZS
= i " . kw/rpm 40/2,200 41/2,200 (40/2,200)
T ps/rpm 54/2,200 56/2,200 (54/2,200)
j - Nm/rpm 174/1,800 200/1,600 (174/1,800)
g 0 e 17.7/1,800
pm 711, 20.4/1,600 (17.7/1,800)
# BE = = cc 1,794 1,794
ME Yy o8B E 2 45 60
& E mm | F 3,205 3,230 3,465 3,690
T+—ORRIR/1E/E] mm |G/H/! 920/100/35 920/120/36 1,070/120/40
S g mm | J 1,070(1,045) 1,070 1,150
Y 2 b B = mm | K 1,995 (1,970) 1,995 1,995
¥ BABEEEST mm | L 3,920 3,920
Z AvKRH-—FKEBE mm | M 2,080 2,110
& ow 26 mm | N 1,485 1,650
% 5 /EIT ] mm | 0 885 960
% B mm | P 895 965
E B #t £ & mm 115 (90) 115 115
B (6] =) 2 kg 2,560 2,740 3,310 3,620
§ =] [ 6.50-10-10PR (6.00-9-10PR) 6.50-10-10PR 7.00-12-12PR
+ % Y 5.00-8-8PR 6.00-9-10PR
FTIE A VFx2
o g mm 1,290 1,450
W OB [ @l W ] mm 1,010 1,105
=} 5] 2] = kg 2,590 2,770 3,380 3,690
¥ A4 ¥ [ 5 & ] 4.50-12-8PR 5.50-15-8PR
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